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1. Explain the chair form of cyclohexane is more stable than the boat form of cyclohexane

2. Cyclopropyl chloride has been prepared by the free radical chlorination of cyclopropane. Write a stepwise

mechanism for this reaction.

FhnE RMAMSEAMRT £ 13 &
HEH A




BEAS 100 458 ALFASI A £ KA

# AT 3 A& Y Filr AL 8 TR K AT #F AR | 100/3/12
8 # 8 A A2 RE/MEXR| 213

MOLARAE  HHEEABEBREN  ABNERENE  RFHH o
AR B ARTERATER -

A~ HEOCRNEQ-2 - RE 107 0 322057
1. Deduce the structure of compound A having the mass, IR, and 'H NMR spectra presented in the following
Figures:
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2. Deduce the structure of compound B which formula is CioHis
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